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Question Id : 9209064554 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Ui & SNYR W FgfeiEd uyi & I difve

T geu ¥ feuax Q9 S0 9
o1 U & Wi Us 3,

TGl & FAGR HYY Bl WA,
3R, Bdl Bad 1 Hiel ¥ & |
TR &5 8R! H UH A 3P B,
T1 gt A e off O 9 I
U S Fel fHe, e Y gl [
A gar g1, s Siigdl W@l &l o,
q1d HedHl & HUAS Ulds fearaR |
T srary o1, T4 Ted & 9 4,
AT 6T T 4T, TN BT HidT U7l

Sub questions

Question Number : 1 Question Id : 9209064555 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

doR Rl |/ 1 AIgT Ben?

(1 ©8 2 U8
(3) 3 CGE
Options :

92090618001. 1
92090618002. 2
92090618003. 3
92090618004. 4

Question Number : 2 Question Id : 9209064556 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



farsr forgt =1 wep ot dien =1gT 3v1an?

(1) @R (2) <=1
(3) TR @) aydten
Options :

92090618005. 1
92090618006. 2
92090618007. 3
92090618008. 4

Question Number : 3 Question Id : 9209064557 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$id A wWieR fearg fe  —— 1|

(1) ds (2) &Y
(3) FHL (4) SFIE
Options :

92090618009. 1
92090618010. 2
92090618011. 3
92090618012. 4

Question Number : 4 Question Id : 9209064558 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

®id = a1 sl Tr1 Y1

(1)  wel (2) Tad
(3) WgN (4) HHA
Options :

92090618013. 1
92090618014. 2
92090618015. 3
92090618016. 4



Question Number : 5 Question Id : 9209064559 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$id F fg a4

(1) WSS (2) HHAI DI
(3)  HIEAT DI (4) oftaq &1
Options :

92090618017. 1
92090618018. 2
92090618019. 3
92090618020. 4

Question Id : 9209064554 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Ui & SNYR W FgfeiEd uyi & I difve

T geu ¥ feuax Q9 S0 9
o1 U & Wi Us 3,

TGl & FAGR HYY Bl WA,
3R, Bdl Bad 1 Hiel ¥ & |
TR &5 8R! H UH A 3P B,
T1 gt A e off O 9 I
YU S &8 fHe, ®d 4d 81 T |
A gar g1, s Siigdl W@l &l o,
q1d HedHl & HUAS Ulds fearaR |
T srary o1, T4 Ted & 9 4,
AT 6T T 4T, TN BT HidT U7l

Sub questions

Question Number : 1 Question Id : 9209064555 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dolR ¢Rd § &1 gl Ben?

1y s 2 U
3) SR (4) o
Options :

92090618001. 1
92090618002. 2
92090618003. 3
92090618004. 4

Question Number : 2 Question Id : 9209064556 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fg gt 3 U ot dier =T S

(1) TWR (2) =1
3) TR ) uudan
Options :

92090618005. 1
92090618006. 2
92090618007. 3
92090618008. 4

Question Number : 3 Question Id : 9209064557 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FATEPRGmgfFd — 7|

(1) dd® (2) ey
3) gHl (4) S
Options :

92090618009. 1
92090618010. 2
92090618011. 3
92090618012. 4



Question Number : 4 Question Id : 9209064558 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIq = HdI Sl JrT Y1

(1) &l (2) Tad
3) W @) W
Options :

92090618013. 1
92090618014. 2
92090618015. 3
92090618016. 4

Question Number : 5 Question Id : 9209064559 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oid A foed Iar e

(1) dEHl (2) HHAI &I
(3) METDI (4) Gildd &I
Options :

92090618017. 1
92090618018. 2
92090618019. 3
92090618020. 4

Sub-Section Number : 2
Sub-Section Id : 920906147
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209064560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 31yal G & o ®U I IuD] Yav a/d & bl gu Weg & 1y fadwa: fvar &
1Y TSIl 81 IYB! Ped © -

(1) oo 2) BRS
3) fauf @ THIDE T
Options :

92090618021. 1
92090618022. 2
92090618023. 3
92090618024. 4

Question Number : 6 Question Id : 9209064560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T MYl YA & o T4 Q I Yo+ a1 & fobadl gER U3 & 91y fasiva: i &
1Y [T BT §1 ISP gl & -

(1)  fagrem ) PIRSD
3) faufda @) FAHABE T8T
Options :

92090618021. 1
92090618022. 2
92090618023. 3
92090618024. 4

Question Number : 7 Question Id : 9209064561 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A dgHE

B. Hgled

c. IR

D. WHHS

e

i fdu 71y fashedl § © T8l ITR &1 99 BT ;

(1) dd A, B,C

(2) dd A,B,D

(3) dd A, CE

(4) Had A C,D
Options :

92090618025. 1
92090618026. 2
92090618027. 3
92090618028. 4

Question Number : 7 Question Id : 9209064561 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FHYRY YA T IE0 ¢ -
A dgHdE

B. Weled

c. AR

D. WHHG

. fodm

i fgu o fashedl © 9 9l 3T &1 98 Sy :
(1) @dd A,B,C

(2) @&dd A, B,D

(3) &dd A CE

(4) dd A C,D

Options :



92090618025. 1
92090618026. 2
92090618027. 3
92090618028. 4

Question Number : 8 Question Id : 9209064562 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt | & Y g 11 & e St

et-1 (dhgd) I (doHH)
(A) HN (M o
®) faaa@r ay  IqH
(C) W @iy oof
(D) 4H (V) HBI

i fau ¢ fasedl | 9 gl 3T &1 994 DIfI;

(1) (A)-(I1), (B)-(I), (C)-(IV), (D)-(l)
(2 (A)-(IV), (B)-(1), (C)-(IN), (D)-(1)
(
(

Lo

3 (A)-(1), (B)-(II), (C)-(l1), (D)-(IV)
4) (A)-(IV), (B)-(1), (Q)-(IN), (D)-(I)

L—

Options :

92090618029. 1
92090618030. 2
92090618031. 3
92090618032. 4

Question Number : 8 Question Id : 9209064562 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt 1 & Y g 0 & e Sife

eli-1 (Thgd) -l (dcHH)

(A) R (M qu
@) faaa@r () ER
() YR iy gof
(D) UH (V) HPHI
Hid f¢u U {9t 1 ¥ Tel I &1 99 I

(1) (A)=(I1), (B)=(D), (C)-(IV), (D)-(l1y

(2) (A)-(IV), (B)-(1l1), (C)-(N), (D)-(1)

(3) (A)-(1), (B)-(I), (C)-(l1), (D)-(IV)

(4) (A)-(IV), (B)-(1), (C)-(11), (D)-(lHry

Options :

92090618029. 1
92090618030. 2
92090618031. 3
92090618032. 4

Question Number : 9 Question Id : 9209064563 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e e 2| g | fFa Us § -

(1) Wi 2) M
3) @ 4) @
Options :

92090618033. 1
92090618034. 2
92090618035. 3
92090618036. 4

Question Number : 9 Question Id : 9209064563 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e e 2| g | fFa Us § -

(1) Wi 2) M
3) @ 4) @
Options :

92090618033. 1
92090618034. 2
92090618035. 3
92090618036. 4

Question Number : 10 Question Id : 9209064564 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It | 6 G1Y G 1| 1 e Sifag

-1 (ETa) Tt -1 (31e)

(A) < STl () dd- bl Yl b3l
(B) TR H Al () R HA
(€) HTd BT Y= g () SIHILIEA
(D) & TTOT HIAT (V) TSI oI

Hid fqu ¢ fadhedl § T IR &1 994 DI

(1) (A)-(I), (BY-(11), (CY-=(1}, (D)-(IV)

(2) (A)-(IV), (B)-(I1), (C)-(1), (Dy-(I)y

(3) (A)-(D, (B)-(11), (C)-(l), (D)-(IV)

(4) (A)-(In), (B)=(11), (C)-(I1), (D)-(1)

Options :

92090618037. 1
92090618038. 2
92090618039. 3
92090618040. 4

Question Number : 10 Question Id : 9209064564 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el | & F1Y Gl 1| BT HeE By

-1 (HBT) Tt -1 (31)
(A) o< STl ()  ddd bl Yledd b3l
(B) TR H I ()  URP B
(€) d I &1 Y g () S HIIEA
(D) 1 TTOTR HAT (V) SATST &I

i fau v fasedl & € UEl 39 &1 98- S

1) (A)-(I1), (B)-=(111), (C)-(1), (D)-(IV)
2) (A)-(IV), (B)-(I), (C)-(1), (D)-(In)
3) (A)=(1), (B)-(11), (C)-(1), (D)-(IV)
4) (A)-(11), (B)-(111), (C)-(I), (D)-()
Options :

92090618037. 1

92090618038. 2

92090618039. 3

92090618040. 4

(
(
(
(

Question Number : 11 Question Id : 9209064565 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

6 cm I 9101 o1 & U 319 Tid ®I fUgdl 2 0.6 cm Biodn arell S1¢1 319 e &8 51
39 USHR &1, 7T 11 I GBI J1d Do |

(1) 5000 (2) 1000
(3) 2000 (4) 2400
Options :

92090618041. 1
92090618042. 2
92090618043. 3
92090618044. 4

Question Number : 11 Question Id : 9209064565 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



6 cm BT aTd o1 & U 319 Tidd @1 fUgdl H3 0.6 cm B arell B¢l 319 7S &8 151
S UPR §1 715 1151 B G J1d Hiforg|

(1) 5000 (2) 1000
(3) 2000 (4) 2400
Options :

92090618041. 1
92090618042. 2
92090618043. 3
92090618044. 4

Question Number : 12 Question Id : 9209064566 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afz sinﬁ':% -3 ”Sta”g ST 1 FR)

ect
(1) % (2) %
® = @ 3
Options :

92090618045. 1
92090618046. 2
92090618047. 3
92090618048. 4

Question Number : 12 Question Id : 9209064566 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afz sinﬁ':% -3 ”sta”g ST 1 FIR)

ect
15 17
(1) 12 (2) 3
12 2
(3) 4) =

13 5



Options :

92090618045. 1
92090618046. 2
92090618047. 3
92090618048. 4

Question Number : 13 Question Id : 9209064567 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

6% A &I a3 § fdoaa THY H 2 3,300 DI AR T 3,399 g1 W, Halds sare ufd SHG!
YO g1 8

(1) 6WHgH 2 13d4
(3) 194 6HEA @ 294
Options :

92090618049. 1
92090618050. 2
92090618051. 3
92090618052. 4

Question Number : 13 Question Id : 9209064567 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

6% A &I aX ¥ foa THT # z 3,300 Dt AR 3,399 8 U, Hafd =aa ufd SHE!
oo g1 38T 8

(1) 6#HEH ) 199
3) 198 6TEH @ 2a4
Options :

92090618049. 1
92090618050. 2
92090618051. 3
92090618052. 4

Question Number : 14 Question Id : 9209064568 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U& gHMER 100 U9 99, 40 U1 & g geg R RS @y Ui a1 g1 39T ary
ufe=rd 1 Hifo (GImed & &1 H 7@ ) :

(1) 64.47% (2) 66.67%
(3) 68.80% (4) 55.59%
Options :

92090618053. 1
92090618054. 2
92090618055. 3
92090618056. 4

Question Number : 14 Question Id : 9209064568 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& gHMER 100 U9 99%, 40 U1 & g geg W o @y Ui al g1 39T ary
ufcrerd 1 Hifo (GIHed & &1 - aF Hg)) :

(1) 64.47% (2) 66.67%
(3) 68.80% (4) 55.59%
Options :

92090618053. 1
92090618054. 2
92090618055. 3
92090618056. 4

Question Number : 15 Question Id : 9209064569 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A smeHt 3R 2 Ted e & &1 10 &9 § 3 I&d €, TaP 2 AeH 3R 3 TS 391
FH D 8 RAT I IDA 81 3 AGH 3R 1 TSHI IH B DI [had g H B Ura?

1 e
1 11— 2) 18—
() 18 () 11
1 9
3 9— 4) 11—
) 11 ) 11

Options :

92090618057. 1
92090618058. 2
92090618059. 3
92090618060. 4

Question Number : 15 Question Id : 9209064569 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o 3reHt SR 2 dad fadt &M #i 10 39 A & Gad € wdld 2 3eHl 3R 3 I8 Il
&M H1 8 37 H HI TFd g1 3l MSH 3N 1 TSH1 39 B Bl fhdq a7 & & ar@i?

1 2

11— 18—

() 18 @ 11
1 9

3 9— 4) 11—
(%) 1 ) 11

Options :

92090618057. 1
92090618058. 2
92090618059. 3
92090618060. 4

Question Number : 16 Question Id : 9209064570 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



forg - & a1 ofik &1 1S wemefi & o9 Way &1 e § 1@d gu, U 91d difer|

3:81::4:2

(1) 64 2 32
(3) 256 4) 148
Options :

92090618061. 1
92090618062. 2
92090618063. 3
92090618064. 4

Question Number : 16 Question Id : 9209064570 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

forg : : & 12 iR &1 12 wemaii & di9 Hdy & eF § Tad gY, WS J1d B

3:81::4:7

(1) 64 (2) 32
(3) 256 (4) 148
Options :

92090618061. 1
92090618062. 2
92090618063. 3
92090618064. 4

Question Number : 17 Question Id : 9209064571 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FofafEa 31 Feaul &1 fifdet 39 R fdar i R Fufa @ifve & 53 9 @ aF-a
fepd i e U FyA O & 1S Y & 9HfUd 9eE § R dlid® &9 9 e a1l g

HUF : UPSC Udiasfi # SRI%d g1 @ SR AFaa g1 81 oo Fafta s o
gdiensti # S %d gl old g

frepd | ot 3 e, Fafia T8  al
- Tt ol B, e A e €

(1)  &ad | UTa- &l &
(2) $ad | 9T $dl &
)
J

(3) SFIH Y PIS UH | T1 1 UTaH &l 8
4) SR PIS UH |11 9T T8l Hdl g
Options :

92090618065. 1
92090618066. 2
92090618067. 3
92090618068. 4

Question Number : 17 Question Id : 9209064571 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafafed 3 Fseyl @1 firdeR 39 W [daR Sifen ofR FRuiRa S & 33 § 3 $H-
e - o U FyE o 1S g & 9fd 938 4 R aIfd® &9 9 e #3dl g

HUYF :  UPSC Udlesfl H ol%d 811 &1 BRU A g g1 $w Fafla s o
gdefsii & swd g oild gl

ey .| et Il B, i A8 §al
- | STl B, Fafta T8 g B

(1)  &ad | U Sl 8
(2)  &ad || UTeH $dl §
3) S HAPIS TS | 11U Bl §
) SHIH A SIS TP | 11 U 6l Hdl &

(4

Options :
92090618065. 1



92090618066. 2
92090618067. 3
92090618068. 4

Question Number : 18 Question Id : 9209064572 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fageht &1 a1g § & IuP ufd &1 I3 19 F 918 fb=g 22 fE9raR T ggd 3| Sldfd 39!
U &1 I15 § 6 395 Y3 &1 oFAfed 20 & 915 fohwg 24 Gwrar 4 ugd ¢ | afe HI 9Ei &,
ad faget & uft &1 o=fea FafifGa A P A s

(1) 23 fegmEr (2) 22 feurar
3) 21fRumER (4) 20 feamER
Options :

92090618069. 1
92090618070. 2
92090618071. 3
92090618072. 4

Question Number : 18 Question Id : 9209064572 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fagdt ®1 a1g & 6 Iud ufd &1 oAl 19 F 912 b 22 GuraR 9§ ugd ¢ | Sdfds Ig&!
U &1 918 & % 39F g &1 oFafed 20 & 918 fbeg 24 Rwmar @ ugd 81 o ST wdl €,
a faget & ufd @1 ol Pl A a Ga A g

(1) 23 feamr (2) 22feamEr
3) 21 feumR (4) 20 fumR
Options :

92090618069. 1
92090618070. 2
92090618071. 3
92090618072. 4

Question Number : 19 Question Id : 9209064573 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

gf¢ SPRING & e HIMT H RTOQQSOMOFH feraT S1dl €, dd MEDIUM &1 e Uil |
Frafafed & 9 feg ueRr fomar smem

(1 LNTDEOALM (2) LNICDOALN
(3) LNICDOALN (4) LINCEOALN
Options :

92090618073. 1
92090618074. 2
92090618075. 3
92090618076. 4

Question Number : 19 Question Id : 9209064573 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gf¢ SPRING & T HIMT H RTOQQSOMOFH foRET STdl €, @ MEDIUM &1 He Ul |
Frafafea # 9 f&9 yeR fergr srem

(1) LNTDEOALM (2) LNICDOALN
(3) LNICDOALN (4) LINCEOALN
Options :

92090618073. 1
92090618074. 2
92090618075. 3
92090618076. 4

Question Number : 20 Question Id : 9209064574 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

US TSP!, U Wl B 3R IR S Pgdl ¢ ‘T8 W 3161 & T & U J3 1 9 §'| dd 39
I BT TSHI S TIY T TaH B

(1) dgd (2) Hreft
3) Hi @) Yo
Options :

92090618077. 1
92090618078. 2



92090618079. 3
92090618080. 4

Question Number : 20 Question Id : 9209064574 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

US TSP!, U Wl B 3R IR S Pgdl ¢ ‘T8 W 3161 & T & U J3 1 9 §'| dd 39
I BT TSHI S TIY T TaH B

(1) dgd (2) Hreft
3) Hi @) Yo
Options :

92090618077. 1
92090618078. 2
92090618079. 3
92090618080. 4

Question Number : 21 Question Id : 9209064575 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it | F A g | @ e St

-1 (BT & ) Tt -1 (ST
B cRIPIY yitres A a faem
(8) SHRIPHY URHIY] Fail SHTHHRUI () S
() HYF AP d1d ATTIRTcH By iy RFTR
(D) URm yid snfdes wgdn (V) SEl

+rd feu e fasedi & 9 95! TR &1 994 Fifoig:

(1) (A)-(IV), (B)-(1), (C)-(I), (D)-(IN)
(2) (A)-(IV), (B)-(1), (C)-(I1), (D)-(H1y
(3) (A)-(1), (B)-(IV), (C)-(11), (D)-(l1)
(4) (A)-(1l), (B)-(IV), (C)-(I), (D)-(1)

Options :
92090618081. 1
92090618082. 2



92090618083. 3
92090618084. 4

Question Number : 21 Question Id : 9209064575 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il | 5 |1y gl 1| 671 i sife

-1 (BT & ) Tt -1 (ST
B cRIPIY yitres A a faem
(8) SHRIPHY URHIY] Fail SHTHHRUI () S
() HYF AP d1d ATTIRTcH By iy RFTR
(D) URm yid snfdes wgdn (V) SEl

+rd feu e fasedi & 9 95! TR &1 994 Fifoig:

(1) (A)-(IV), (B)-(1), (C)-(I), (D)-(IN)
(2) (A)-(IV), (B)-(1), (C)-(I1), (D)-(H1y
(3) (A)-(1), (B)-(IV), (C)-(11), (D)-(l1)
(4) (A)-(1l), (B)-(IV), (C)-(I), (D)-(1)

Options :

92090618081. 1
92090618082. 2
92090618083. 3
92090618084. 4

Question Number : 22 Question Id : 9209064576 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y 3115 3R (CSIR) &1 WYH Afge AeiHeYd i odi?

(1) e SRE (2) FAcaTyrE! dAded!
(3) TN 4) fagrar R
Options :

92090618085. 1
92090618086. 2
92090618087. 3
92090618088. 4



Question Number : 22 Question Id : 9209064576 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Uy 31 3R (CSIR) B UYH Aigd AeFwd & oi?

(1) e SREr (2) FAcaTynd daHed!
(3) SEUNISUd @) fagrEr R
Options :

92090618085. 1
92090618086. 2
92090618087. 3
92090618088. 4

Question Number : 23 Question Id : 9209064577 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

13 g Sy R &:
®YFI| . HEIdIE!, &N & aiw A siftel g1 & forae! Fgfd didum & siwse
76 1 3(=T7fd PR GRT B 1A B

FUYF I :  HEHGE!, Y9e & Siddg! H, die &1 PR F=aifd U & Tdhdl g
JUSd HYA & fdld |, - iU 10 fawal § 9 9 I 994 $ifeiy

(1) &Y 3RS TR
(2) ®YAI SR 1 S TTEd §
(3) ®Y I GEIE, dichT HYA 1| TTeld &
(4) ®YFITTAd g, dfbd YT 1 9ET B

Options :

92090618089. 1
92090618090. 2
92090618091. 3
92090618092. 4

Question Number : 23 Question Id : 9209064577 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R Fy kU U §:

HYFI1 . HERIdE!, 3X $1 gai= A sifterl g1 € et Fgfd dfdurm & siwse
76 &1 Sf=a7id IFUT GRT F I B

FYF Il :  HEIHERE!, UHS & SIddie! H, dic &1 MMEER =did U & Hhdl gl
JUiad HYA & 3P H, A fGu e fAwadl § 9 9t It 99+ Hifelw

(1) ®YF | SR || S 9l e
2) FUTIAR NS Tad &
(3) HUTIYHslE, AP HYA I e &
(4) PUTITAd §, Al HYF 1 BT &
Options :
92090618089. 1
92090618090, 2

92090618091. 3
92090618092. 4

Question Number : 24 Question Id : 9209064578 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e & we lRw e @:
HYF| 0 AP I TR TISHT (NRHM) 1 HRY 22 30 2008 1 faar mar ur

®YFI: (NRHM) FT I5=0 I g &R 3R Higed P <X &1 92/l gl
IWRITd HYF & Said §, 19 Ru e fdded § & 99 Iugat I &1 994 Sifeg

(1) &Y 3R 1S FER
(2)  HYF 1SR | T T §
(3) Y| Fele, Wi By || Tad &
(4)  HYF | A B, Al HYE 1| HEl 8

Options :

92090618093. 1
92090618094. 2
92090618095. 3
92090618096. 4

Question Number : 24 Question Id : 9209064578 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

#9 q1  fag e &:
HYT| ;YR IR IGHT (NRHM) 1 HRY 22 30 2008 1 fasam ar o

BYTIl:  (NRHM) BT 359 Y 7 R SR AGd Jog <R $1 °Al 8
SWRIFd HYF & el H, 7 fGu e fasedl § § el Iugd IR &1 99 Difeig

(1) U SR 1A 9d R
(2)  HYF | 3R 1| T T &
(3) HY| WEl g, dichd HUF 1l TTed §
(4) YT TTAd B, e HY 11 981 B

Options :

92090618093. 1
92090618094. 2
92090618095. 3
92090618096. 4

Question Number : 25 Question Id : 9209064579 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 3w #1 ¢ 71 & gRI Sf39 $Y 2022 e Siidr 41

(1) sieferar (2) IRmE
3) HH (4) HAST
Options :

92090618097. 1
92090618098. 2
92090618099. 3
92090618100. 4

Question Number : 25 Question Id : 9209064579 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFa 29 &1 29 71 F gRT 339 $9 2022 v Sfar U1

(1) 3ffefemn (2) IRmE
3) WA (4) S
Options :

92090618097. 1
92090618098. 2
92090618099. 3
92090618100. 4

Part B: Medical Laboratory Technology

Section Id : 92090692
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906148
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 9209064580 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Through anaerolic condition, pyruvate is converted to

(1) Glucose (2) Butanoic acid
(3 Palmitic acid {(4) Lactate
Options :

92090618101. 1
92090618102. 2
92090618103. 3
92090618104. 4



Question Number : 26 Question Id : 9209064580 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A HTRI P gRI, UHEde —— B el oidl ¢
(1) T (2) SICHIgD
(3) UldAie® (4) wdce
Options :

92090618101. 1
92090618102. 2
92090618103. 3
92090618104. 4

Question Number : 27 Question Id : 9209064581 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Prions are

(1) Vitamin molecular subtitutes (2) Carbohydrates

(3 Infection proteins (4) Members of Enterobacteriaceae
Options :

92090618105. 1
92090618106. 2
92090618107. 3
92090618108. 4

Question Number : 27 Question Id : 9209064581 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T g |

(1) [Goifiq onftas fPOeR @exe) () FERBRsc

@)  HHEE UreH 4) Tdaciiudt & Tew
Options :

92090618105. 1
92090618106. 2



92090618107. 3
92090618108. 4

Question Number : 28 Question Id : 9209064582 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pernicious anaemia is caused due to

(1) Lack of absorption of vitamin B12 by the body
(2) Inadequate carbohydrate intake
(3) Low blood pressure

(4) Increased protein intake

Options :

92090618109. 1
92090618110. 2
92090618111. 3
92090618112. 4

Question Number : 28 Question Id : 9209064582 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YUITelt YeTedal (UH1<AY THEET) ————— & SR gidl el

(1) IRIR gRT [@eifiq 8-12 & aweu § Sl
(2) AT FEERSe

@ FuIsa™
(4)  §gI g W

Options :

92090618109. 1
92090618110. 2
92090618111. 3
92090618112. 4

Question Number : 29 Question Id : 9209064583 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pneumoconiosis is an

(1) Infection of the liver (2) autoimmune disorder of spleen
(3) Infection of the human skin (4) Occupational lung disease in humans
Options :

92090618113. 1
92090618114. 2
92090618115. 3
92090618116. 4

Question Number : 29 Question Id : 9209064583 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s s §

(1) TP BT HHH (2) Teilgr 1 Wufdal fddr
(3)  HFd @4l B HhA (4) Gl H SHaEide Uk I
Options :

92090618113. 1
92090618114. 2
92090618115. 3
92090618116. 4

Question Number : 30 Question Id : 9209064584 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The primary stain used in Gram staining is

(1) lodine (2) Crystal Violet
(3) Aleohol (4) Carbol fuchsin
Options :

92090618117. 1
92090618118. 2
92090618119. 3
92090618120. 4



Question Number : 30 Question Id : 9209064584 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y SRS | Uit 3o ¢

1) e 2) Tobred dignie
3) Ul () P& HARE
Options :

92090618117. 1
92090618118. 2
92090618119. 3
92090618120. 4

Question Number : 31 Question Id : 9209064585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The difference between sterilization and disinfection is

(1) Sterilization does not eliminate spores, disinfection eliminates all spores
(2) Sterilization includes cooling, disinfection includes heating

(3) Sterilization is for rubber, disinfection is for living surface

(4) Sterilization involves elimination of all spores, disinfection does not

guarantee destruction of all spores

Options :

92090618121. 1
92090618122. 2
92090618123. 3
92090618124. 4

Question Number : 31 Question Id : 9209064585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oo gyt AMuEEE A ek ——— |

(1) e demst (TR) &1 g gerdl g, ] A1 9t il @ gerd g
@  Forifeo d ao=iia afifed 8, ImoERE J aE ifed g
3) TIciiievo e & forg giar &, Jvmo] 1w Sfifad gagi & e g g

(4) mﬁamMGﬁaﬁw@ﬁﬁmﬁmﬁm&ﬁﬁmﬁm
r

Options :

92090618121. 1
92090618122. 2
92090618123. 3
92090618124. 4

Question Number : 32 Question Id : 9209064586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The structure that helps the bacteria move is

(1) Nucleoid (2} Ribosome
(3) Flagellum {4) Peptidoglycan
Options :

92090618125. 1
92090618126. 2
92090618127. 3
92090618128. 4

Question Number : 32 Question Id : 9209064586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR it St ofary & e & HeeR @

(1) P=M (2) ZEEH
@)  TaH 4) ufPSrdarssEa
Options :

92090618125. 1
92090618126. 2
92090618127. 3
92090618128. 4



Question Number : 33 Question Id : 9209064587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A reagent used in immuno fluorescence, as a fluorescent dye is

(1) DMSO (2)  Aleohol
(3 Sodium dodecyl sulphate (4) Fluorescein Isothioeyvanate
Options :

92090618129. 1
92090618130. 2
92090618131. 3
92090618132. 4

Question Number : 33 Question Id : 9209064587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ufeRe ufadiicy & ugea sifieris, U uidii e FEUAgd— 8
(1)  DMSO (2) UhIgId

3) wEfead gSERd gabhe (4) TRINRH SMZEYEEE-e
Options :

92090618129. 1
92090618130. 2
92090618131. 3
92090618132. 4

Question Number : 34 Question Id : 9209064588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Peptidoglycan contins

(1) MN-acetylglucosamine and N-acetylmuramic acid
(2
(3
(

1) Leucine only

o’

M-acetylribitol phosphate only

e

glycine only

Options :



92090618133. 1
92090618134. 2
92090618135. 3
92090618136. 4

Question Number : 34 Question Id : 9209064588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

tfpEramedd ¥ ————— gl gl

(1)  N-URHCEd T MuHHE qul N-TRIegd ES 3
()  N-URIesd Risca Brbhe $ad

(3) TASHI ddd
(4) TgHH Haa
Options :

92090618133. 1
92090618134. 2
92090618135. 3
92090618136. 4

Question Number : 35 Question Id : 9209064589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In glyeolysis, enolase causes the conversion of

1) 2 phosphoglycerete to phosphoenol pyruvate

(

(2) Glycereldehyde 3 phosphate to 1.3 bisphosphoglycerate
(3 (Glucose-6-phosphate to Fructose-6-phosphate

(4) 1.3 bisphosphoglycerate to 3 phosphoglycerate

Options :

92090618137. 1
92090618138. 2
92090618139. 3
92090618140. 4

Question Number : 35 Question Id : 9209064589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BT H e — daa- &1 RS &

(1) BREBITTEE § BREEAId 9Eede §
2 [eOadieEs 3 Biake ¥ 1-3 Suwrsiieae &
(3)  TIHIY-6-BTEHC ¥ e H-6-hRbe H
@ 1,3 IEEETeERe ¥ 3 BEbieRNe §
Options :
92090618137. 1
92090618138. 2

92090618139. 3
92090618140. 4

Question Number : 36 Question Id : 9209064590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gamma hemolytic activity means

(1) Complete lysis of RBCs (2) Incomplete lysis of RBCs
(3) No lysis of RBCs (4) Destruction of DNA
Options :

92090618141. 1
92090618142. 2
92090618143. 3
92090618144. 4

Question Number : 36 Question Id : 9209064590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT SR ey &1 3R § -

(1) RBCs @1 quf oA (2) RBCs @I Aol &g
(3)  RBC &1 @9 Al (4) DNAHIAF gHl
Options :

92090618141. 1
92090618142. 2
92090618143. 3
92090618144. 4



Question Number : 37 Question Id : 9209064591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Taq polymerase is an enzyme that has been associated with

(1) Polymerase Chain Heaction (2) Reverse transcription
(3) Polymerase production (4) Transcription
Options :

92090618145. 1
92090618146. 2
92090618147. 3
92090618148. 4

Question Number : 37 Question Id : 9209064591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Ul U ToigH g ol i ——— J wafd g

(1) et ggar sl (2) [ aeEs (e e fewm)
(3)  diierHYe Jarg (4) SFfoEH

Options :

92090618145. 1
92090618146. 2
92090618147. 3
92090618148. 4

Question Number : 38 Question Id : 9209064592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Straphylococeus is a

(1) (Gram positive bacterium, round in shape

(2) (Gram negative bacterium, rod shaped

(3) (Gram negative and catalase negative

(4) MNeither Gram positive, nor Gram negative
Options :

92090618149. 1
92090618150. 2



92090618151. 3
92090618152. 4

Question Number : 38 Question Id : 9209064592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

LHRADIHY Th gl

(1) UH YIS WG, Tien (2) T BUTHED Siid], SSIHR
@) UHBUTHASD a4l Heldd BUTHS  (4) 1910 S-dS R AT et T1H BTaD

Options :

92090618149. 1
92090618150. 2
92090618151. 3
92090618152. 4

Question Number : 39 Question Id : 9209064593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Polyvmerase Chain Heaction involves

(1) Breakdown of RNA (2) Amplification of DNA
(3) Synthesis of protein (4) Synthesisof lipids
Options :

92090618153. 1
92090618154. 2
92090618155. 3
92090618156. 4

Question Number : 39 Question Id : 9209064593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

uiferTe &g sififerar  —— afiifea 31
(1) RNA I HoH (2) DNA &I 3TgeH
(3) U &I ¥du (4) fofds &1 gy

Options :



92090618153. 1
92090618154. 2
92090618155. 3
92090618156. 4

Question Number : 40 Question Id : 9209064594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In polyeythemia, the percentage of red blood cells is

1) Abnormally high

(
(2) Abnormally low
(3) Abnormally high but no increase in seen in viscosity of blood
(4) Remains inchanged
Options :

92090618157. 1
92090618158. 2
92090618159. 3
92090618160. 4

Question Number : 40 Question Id : 9209064594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SgalledIRed §, @I Yad & IeTei o ufaed giare -

(1) HEHAEIY 3=

(2) SEHAEIYFHH

(3) MR E9 ¥ 3™ R WA J B gl Tl Wi o
)  3Rdfdd BT g

Options :

92090618157. 1
92090618158. 2
92090618159. 3
92090618160. 4

Question Number : 41 Question Id : 9209064595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The term ‘lesion’ refers to

(1) ()ver expression of gene (2} Lack of vitamins
(3) A wound (4) Dehydration
Options :

92090618161. 1
92090618162. 2
92090618163. 3
92090618164. 4

Question Number : 41 Question Id : 9209064595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g OO HTIEH G -

(1) o @1 fderfiefE 2) T+t
3) TUHHUMA @) fefeiezo
Options :

92090618161. 1
92090618162. 2
92090618163. 3
92090618164. 4

Question Number : 42 Question Id : 9209064596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The percentage of WBCs that are Neutrophils are in the range of

(1) 40% to 60% (2)  20% to 30%
(3) 10% to 20% (4) 60% to T0%
Options :

92090618165. 1
92090618166. 2
92090618167. 3
92090618168. 4

Question Number : 42 Question Id : 9209064596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

(WBC) &d TR SHivm1af & Uit ed &1 Widwd ——— i & grar g
(1) 40% I 60% (2)  20% 9 30%

(3)  10% 9 20% (4)  60% 9 70%
Options :

92090618165. 1
92090618166. 2
92090618167. 3
92090618168. 4

Question Number : 43 Question Id : 9209064597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nickel-NTI is used for protein purification. NTI stands for

(1) Nitrilo Triacetic Acid (2) Nitrogenous Tri lodine
(3) Nickel Tri lodine {4) Nitrogen Tetra lodine
Options :

92090618169. 1
92090618170. 2
92090618171. 3
92090618172. 4

Question Number : 43 Question Id : 9209064597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ea-NT UIEH giemur & fog uan e smar g nm @13 g

(1)  ARfeal TRudiies ana (2) IR TR A
@ FedcRemEEH (4) ECNSH Zeremda
Options :

92090618169. 1
92090618170. 2
92090618171. 3
92090618172. 4



Question Number : 44 Question Id : 9209064598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nematodes are

(1) Flatworms (2) Round worms
(3) Tape worms (4) Viruses
Options :

92090618173. 1
92090618174. 2
92090618175. 3
92090618176. 4

Question Number : 44 Question Id : 9209064598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e g
(1) dUCI S 2) TdHH
(3) BIdI P (4) AR
Options :

92090618173. 1
92090618174. 2
92090618175. 3
92090618176. 4

Question Number : 45 Question Id : 9209064599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An antibody in human consists of

(1) Lipid Chain and protein Chain (2) Non-proteinaceous chain
(3) Chain made up of glucose molecules (4) Heavy chains and light chains
Options :

92090618177. 1
92090618178. 2
92090618179. 3



92090618180. 4

Question Number : 45 Question Id : 9209064599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UHd & U ufaelt (@@ §igh ———— S S gt g1
() Teifus gaen aur iid= ga (2)  SHUICH YEe
3) gEAigH B BN e () UN Y& au ol gEdl

Options :

92090618177. 1
92090618178. 2
92090618179. 3
92090618180. 4

Question Number : 46 Question Id : 9209064600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Freezing Microtome, which gas is used :

(1) Hydrogen (2) Carbondioxide
(3)  Oxygen (4) Lithium
Options :

92090618181. 1
92090618182. 2
92090618183. 3
92090618184. 4

Question Number : 46 Question Id : 9209064600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IS A Terd | &1 Ot T Ugn &1 WKk 82

(1)  TIgaie (2) PEA IS HFTES
@) HiadeH (4) faftms
Options :

92090618181. 1



92090618182. 2
92090618183. 3
92090618184. 4

Question Number : 47 Question Id : 9209064601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Normal serum level of Vitamin-A is

(1) 30-45 ug/dl (2) 55-80 ug/dl
(3) 15-60 ug/dl (4) 80-90 ug/dl
Options :

92090618185. 1
92090618186. 2
92090618187. 3
92090618188. 4

Question Number : 47 Question Id : 9209064601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fGerfa AT AR TRE —

(1) 20-24 pg/dl (2) 55-80 ng/di
(3) 25-70 pg/dl (4)  80-90 pg/dl
Options :

92090618185. 1
92090618186. 2
92090618187. 3
92090618188. 4

Question Number : 48 Question Id : 9209064602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hemoglobin detected by sahli's method is

(1) Methemoglobin (2) Oxy Hemoglobin
(3) Carboxy Hemoglobin (4) Sulph Hemoglobin
Options :

92090618189. 1
92090618190. 2
92090618191. 3
92090618192. 4

Question Number : 48 Question Id : 9209064602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol Srrciie Gigel B Al § g S e, 98 S -

(1)  He-gamafea ) 3 fandifes
(3) @Gt grAraE (4) T gHREE
Options :

92090618189. 1
92090618190. 2
92090618191. 3
92090618192. 4

Question Number : 49 Question Id : 9209064603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Molish Test which colouring indicate the presence of carbohydrate?

(1 Yellowish-green (2) Blue Black
(3) Brick Red (4) Redish violet
Options :

92090618193. 1
92090618194. 2
92090618195. 3
92090618196. 4

Question Number : 49 Question Id : 9209064603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

niferer e § & 91 H Salesac o Juredfd $F1d swar g7

(1)  die-gan (2) - ST
3) Stear o (4) aATHA-ST
Options :

92090618193. 1
92090618194. 2
92090618195. 3
92090618196. 4

Question Number : 50 Question Id : 9209064604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aram’s staining was discovered by Gram scientist in

(1) 1580 (2) 1888
(3) 1584 (4) 1886
Options :

92090618197. 1
92090618198. 2
92090618199. 3
92090618200. 4

Question Number : 50 Question Id : 9209064604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ay g gRT U iR —— 9§ o Wi 7
(1) 1880 (2) 1888
(3) 1884 (4) 1886
Options :

92090618197. 1
92090618198. 2
92090618199. 3
92090618200. 4



Question Number : 51 Question Id : 9209064605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mean is measure of :

(1) Location (Central value) (2} Correlation
(3 Dispersion (4) Frequency
Options :

92090618201. 1
92090618202. 2
92090618203. 3
92090618204. 4

Question Number : 51 Question Id : 9209064605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=g FIaT e gl

(M IHSI (2) WPhal

(3) urg (4) TR
Options :

92090618201. 1
92090618202. 2
92090618203. 3
92090618204. 4

Question Number : 52 Question Id : 9209064606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Strope is made up of

(1) Leather (2 Wood
(3) Metal {4) Stone
Options :

92090618205. 1
92090618206. 2
92090618207. 3



92090618208. 4

Question Number : 52 Question Id : 9209064606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y —— HTAND ¢

1y Rl mes (2) Hgday
3)  uiEgo (4) WRERA
Options :

92090618205. 1
92090618206. 2
92090618207. 3
92090618208. 4

Question Number : 53 Question Id : 9209064607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following represent data.

(1) A ground value in a set (2) Asingel wave
(3) Only two value (4) None of the above
Options :

92090618209. 1
92090618210. 2
92090618211. 3
92090618212. 4

Question Number : 53 Question Id : 9209064607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U & @ 3 (S AiPhs! BT U Hd1 &7

(1)  UP =g J TP A (2) USdad

3) FadqIHA (4) Iudad H 9 B gl
Options :

92090618209. 1



92090618210. 2
92090618211. 3
92090618212. 4

Question Number : 54 Question Id : 9209064608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pictogram are shown by :

(1) Circle (2} Lines
(3) Dats {(4) Pictures
Options :

92090618213. 1
92090618214. 2
92090618215. 3
92090618216. 4

Question Number : 54 Question Id : 9209064608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e, e g1 Tefid g wid 87

m 9 (2) Y@M

3) fag 4 fem=
Options :

92090618213. 1
92090618214. 2
92090618215. 3
92090618216. 4

Question Number : 55 Question Id : 9209064609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Microbes living in complete harmony with the host without causing any damage are known :

(1) Commensals (2) Pathogenesis

(3) Leukogenesis (1) Cytogenesis



Options :

92090618217. 1
92090618218. 2
92090618219. 3
92090618220. 4

Question Number : 55 Question Id : 9209064609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e oftd ot Frgul eIt & IRUINS $ 91 5 ¢ 1o P JHEH ugdrt, Feend ©

(1)  Hguieit (2) AT
(3) YA (4) HIPHAG
Options :

92090618217. 1
92090618218. 2
92090618219. 3
92090618220. 4

Question Number : 56 Question Id : 9209064610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Harmone agsay using immune assay technigque require except :

(1) Plasma sample (2) Tap water
(3) Controls (4) Drabkin's solution
Options :

92090618221. 1
92090618222. 2
92090618223. 3
92090618224. 4

Question Number : 56 Question Id : 9209064610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UTaR&l -1 HTHTIH ST YA Hed gU gTHA HTHTIH H SHa<gdhdl il o, 39 i e

(1) TefheHI HAT (2) A Pl
3 foEs 4) SoibA faeagA
Options :

92090618221. 1
92090618222. 2
92090618223. 3
92090618224. 4

Question Number : 57 Question Id : 9209064611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Anti-Immunoglobulin is also known as :

(1) CRYO SERUM (2) COOMB'S SERUM
(3) LOCAL SERUM (4) FOREIGN SERUM
Options :

92090618225. 1
92090618226. 2
92090618227. 3
92090618228. 4

Question Number : 57 Question Id : 9209064611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

tét-gAgATasgfe (ufe-ufa zemdsgfer) ag f sear @ -

(1) e dRE (2) PEgIARH
3) WHEEERA @) facgi dRkH
Options :

92090618225. 1
92090618226. 2
92090618227. 3
92090618228. 4

Question Number : 58 Question Id : 9209064612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The Molecular weight of C-Reactive protein is Dalton.

(1) 114000 - 140000 (2) 40000 - 50000
(3) 100000 - 150000 (4) 112000 - 120000

Options :

92090618229. 1
92090618230. 2
92090618231. 3
92090618232. 4

Question Number : 58 Question Id : 9209064612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

cfufdagida s amufds R — B &l

(1) 114000 - 140000 (2) 40000 — 80000

(3) 100000 - 150000 (4) 112000 - 120000
Options :

92090618229. 1
92090618230. 2
92090618231. 3
92090618232. 4

Question Number : 59 Question Id : 9209064613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Type of ELISA offers greater specificity and sensitivity :

(1) Indirect ELISA (2) Direct ELISA
(3) Strepavidin Biotin ELISA (1) Competitive ELISA
Options :

92090618233. 1
92090618234. 2
92090618235. 3
92090618236. 4



Question Number : 59 Question Id : 9209064613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ELISA &1 U UPR ol Sgax [arpal aul Jag-2iiedr Uerd &idl g7

(1) 3U& ELISA (2) & ELISA
(3)  ¥uldfed - aried eusa (4) TfcEde ELISA
Options :

92090618233. 1
92090618234. 2
92090618235. 3
92090618236. 4

Question Number : 60 Question Id : 9209064614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Biochemical test is used to differentiate between fermented carbohydrate and oxidised
carbohydreate is :

(1) ONCG TEST (2) VGTEST
(3) MR TEST (4) OF TEST
Options :

92090618237. 1
92090618238. 2
92090618239. 3
92090618240. 4

Question Number : 60 Question Id : 9209064614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SRS e $1 WarT fBitad Safesse aul siafigsers elerge # ik & g
fPosmaredig?

(1)  ONCG Tdigquy (2) VG UIl&m

(3) MR UII&m (4) OF YII&Mm

Options :

92090618237. 1



92090618238. 2
92090618239. 3
92090618240. 4

Question Number : 61 Question Id : 9209064615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Instrument used for distillation is called :

(1) Still (23 Colorimeter
(3) Freezers (4) Centrifuge
Options :

92090618241. 1
92090618242. 2
92090618243. 3
92090618244. 4

Question Number : 61 Question Id : 9209064615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a4 & foe v iU oM 911 SUHRU Hedldl &

1 fea 2 guiHd [FeadHeR)
@ WeR (4) IR RIS
Options :

92090618241. 1
92090618242. 2
92090618243. 3
92090618244. 4

Question Number : 62 Question Id : 9209064616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Temprature maintained in a Bacterial Incubator is :

(1) 25° celeius (2)  20° celeius

{3) 48° celcius {4) 37° celeius

Options :



92090618245. 1
92090618246. 2
92090618247. 3
92090618248. 4

Question Number : 62 Question Id : 9209064616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U SiidIY] HEAIEE (37agdex) § digHH §-1Y 3@1 Siidl §

(1) 25 Afcaad (2) 20° VY
(3) 48 OfcE @) 27 ofcEg
Options :

92090618245. 1
92090618246. 2
92090618247. 3
92090618248. 4

Question Number : 63 Question Id : 9209064617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The device which maintain the set temperature in a Hot Air oven is called:

(1) Indicator (2} Thermostat
(3) Steel door {4y Chamber
Options :

92090618249. 1
92090618250. 2
92090618251. 3
92090618252. 4

Question Number : 63 Question Id : 9209064617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 9 Sffgq ¥ Fuffid arowE &1 §91E W@ a1 USRIl

(1) GfeHeR) @E 2) (YHRET) aufRRS
(3)  Id eare 4) IR
Options :

92090618249. 1
92090618250. 2
92090618251. 3
92090618252. 4

Question Number : 64 Question Id : 9209064618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Prevention of Infection is known as :

(1) Germicides (2) Antisepsis
(3) Bacteriocidal {4) Bacteriostatic
Options :

92090618253. 1
92090618254. 2
92090618255. 3
92090618256. 4

Question Number : 64 Question Id : 9209064618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GhHUI ¥ S99 Hedldl &

(1) AT 2) TRy
(3) Qo (4) SAlEToEE
Options :

92090618253. 1
92090618254. 2
92090618255. 3
92090618256. 4

Question Number : 65 Question Id : 9209064619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

(Gas has Boiling point of 10.7° C.

(1) Formaldehyde gas (2) Betapropiolactone gas
(3) Ethylene oxide (4) Methylene oxide
Options :

92090618257. 1
92090618258. 2
92090618259. 3
92090618260. 4

Question Number : 65 Question Id : 9209064619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B Y MY BT Ia19 f6g 10.7°C B

(1) BHAseEs TN 2 dter-udideed
@) UdidF eraTEs (4) AU SRS
Options :

92090618257. 1
92090618258. 2
92090618259. 3
92090618260. 4

Question Number : 66 Question Id : 9209064620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion(A): Bacteriology is the Branch of science which deals with the study of

Bacteria.

Reasons (R) : Mycology is the Branch of science which deals with the study of fungus.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 15 true but (R) is false

{(4) (A) 15 false but (R) 1s true

Options :

92090618261. 1
92090618262. 2
92090618263. 3
92090618264. 4

Question Number : 66 Question Id : 9209064620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I &1 HYF 4T U §: TP AUHYA (Assertion A) & w0 T ffEd § 1 gO¥ 39D RO
(Reason R]aTFﬁ ﬁ;

YT A ;  Sita] fas, A9 & ag T g o Siansil & eqa | deftd g

HRUIR : FHad (a9, [a9H 3 98 TRET 8 9 $ad! & AT 4 GEiEd gl

TURIG DY & Hieild H, Hid 4T MU fasedl § 9 981 IR &1 994 SHifeig

1)  AJRREHTEIE iR R AT Tl G 8

(
2) AJRRIFETEE AfFTR AT TS AT TR E
(3)

3)  AUEE AfpT RIS TR
(4) AHEIEl g, AlbT R Wl B
Options :

92090618261. 1



92090618262. 2
92090618263. 3
92090618264. 4

Question Number : 67 Question Id : 9209064621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion(A):  Amino Acids oceurring in proteins are called alpha-amino Acid.

Eeasons (R) : Amino Acid do not have carboxyl group and amino group.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) 15 true but (R) 1s false

(4) (A) is false but (R) 1s true

Options :

92090618265. 1
92090618266. 2
92090618267. 3
92090618268. 4

Question Number : 67 Question Id : 9209064621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hid & &Y [T T T UF AUBYA (Assertion A) & U H fofEdd 8 o gOU 34 SRUI
(Reason R]%EF[I jf-f;

AHUBYTA - UIH B Ul 9 91 T 3 UehT SHiAT 3 $edrd ol
HRUIR : 3T 3 H SrElaad THg aul HH §Hg el il
JIWiad HYA & Hdle |, A fGu e fdswedl # T ugt IO &1 994 Sifen

(1) A3RRIETEE IR A D T BT ©

2) A IRREH TS g AfPAR A DI U AR el
3) ATAE dPIRT TS

(4) AYEIEIE, Wb REEI 8

Options :

92090618265. 1
92090618266. 2
92090618267. 3
92090618268. 4

Question Number : 68 Question Id : 9209064622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (4) :  RNA polvmerase bonds to promoter.

Reasons (R) : The phosphodiester bond is formed between 2 ribonucleotides.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (4)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 {A) is correct but (R) is not correct
(4) {A) is not correct but (R) is correct
Options :
92090618269. 1

92090618270. 2
92090618271. 3



92090618272. 4

Question Number : 68 Question Id : 9209064622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 Tl HuA BU U T U AU (Assertion A) B w0 H [ofEd § df gEN 9US BRI
(Reason R]%Fﬁ ff;

UFYTA ;R T, Uiy UHieR § Jadi g

PRUIR : 2 AFEYfFaeeze & A BRBISHURR 94 §4d 5
JWRIF FY F el H, - 40 7Y fascl ¥ 8 95l IR &1 99 Sifeig

) AJRREH TE T ARR, A DTS AL T

) ASIRRGH Tl g, At R, A B Tg! RS el &
) AUEIE AfpIRUE TRl g

)  AWEIEIE, AlGTREE S

Options :

92090618269. 1
92090618270. 2
92090618271. 3
92090618272. 4

Question Number : 69 Question Id : 9209064623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements : One iz labelled as Assertion (A) and the other is lahelled as

Reason (R).

Assertion (4A) ; Bacteria divide by binary fission.

Reasons (R) : The DNA of bacteria is replicated with the aid of DNA polymerase.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) {A) is correct but (R) is not correct
(4) (A) is not correct but (R) is correct
Options :

92090618273. 1
92090618274. 2
92090618275. 3
92090618276. 4

Question Number : 69 Question Id : 9209064623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hid 31 HyA AU MU ¢ UP AHUFHUA (Assertion A) B &4 H ffEd 8 o 00 39D IR
(Reason R]%ﬁ?:ﬂ[ ff;

HUFY A ;- ofta fgEe R oA gran 81

DRUR: SR (Sa) % (DNA) SLEAL & gfafafd Sieau. gifcme &1 Teral
T 1 § TiterAe

IWRIad Y & Hdld H A U e fawedi § 3 Ugt I &1 994 Sifog

(1) A3RREH T3 g AR R A DI gt AT B

(2) A 3RRGH 98l g, Afd R, A D! el RS el ©
(3) AYSIE, Al RESI Sl §

(4) AT, Al RESI B

Options :

92090618273. 1
92090618274. 2



92090618275. 3
92090618276. 4

Question Number : 70 Question Id : 9209064624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Human Immuno deficiency virus is a retrovirus.

Reasons (R) : Hepatitis A virus has RNA as the genetic material for the genome.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) {A) 1s correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

92090618277. 1
92090618278. 2
92090618279. 3
92090618280. 4

Question Number : 70 Question Id : 9209064624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hid & ®YA AT T §: UF AUBYA (Assertion A) F U H {fEd 8 ol GO IS SR
(Reason R) CEal| ff;

HUPUT A ©  BIHA ST SBRICH! IR U ClarRg ¢ |
HRUIR : RUeTsiey Ty # oiHi| & oy SRuA.u. afe el F wu H g g
IWiad HY & Hald H, A fGu e fdsed! § 3 ugt 33 &1 994 Sifeg
(1) A SRREHI T8l g AR R, A B! UL AT &
2) A SRR Ul g, Al R, A D! TE! oIS el §
3) ATGE AR TS
(4) AYgI el g, dich R ESI §
Options :
92090618277. 1
92090618278. 2

92090618279. 3
92090618280. 4

Question Number : 71 Question Id : 9209064625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reaszon (R).

Assertion (A) : The coagulase test is used to differentiate S aureus from S epidermidis.

Reasons (R) : Bhizobium is protozoa.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true
Options :
92090618281. 1

92090618282. 2
92090618283. 3



92090618284. 4

Question Number : 71 Question Id : 9209064625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 & Y 3T T § TP NS (Assertion A) & TU ¥ fifEd & ol gIRT I¥H HRU
(Reason R) & ®Y H:

UBEYT A wa%wwwmﬁw.w@mﬁmwasmmm
a1 2l

PFRUIR : Aol S U Uiesisi gl
JIWIad HY & fald | At feu v fasedi 8 9§ 9gl I &1 994 Siforg

(1)  ASIRREH T8l € 3R R, A DI T TRA &

(2) A SR REH 9E! € dfb R, A B WS RN 8l &
(3) AUEE APIRIS TS E

4 AGSTE S AfFTRUE R

Options :

92090618281. 1
92090618282. 2
92090618283. 3
92090618284. 4

Question Number : 72 Question Id : 9209064626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A):  Helicase unwinds the DNA to separate the strands.

Reasons (R) : RNA polymerase has unwinding activity.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) {A) is correct but (R) is not correct

(4) {A) is not correct but (R) is correct

Options :

92090618285. 1
92090618286. 2
92090618287. 3
92090618288. 4

Question Number : 72 Question Id : 9209064626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I g FY ST U §: UF AUFYT (Assertion A) F FU ¥ [REd g O gEY 39D RO
(Reason R]aﬂﬁq ﬁ;

AUFUT A © THD B GUSH B & (0T g d (DNA) SITA.E & Gaar gl
FRUR HMRUAT. UlieEa | (Hage W) @ia- @ ol gidi g1
IURIad By & el |, A QU Y fadedl | ¥ Ugl 3w &1 9g+ Sifog
(1) A JRREH 9g1 ¢ AR R, AP Hel AT §

(2) ASRRIH HE S Afb R, A T S AT 5] §

3) ATHE AR U AR
(4) AW Gl AlbIRTEI

Options :
92090618285. 1
92090618286. 2



92090618287. 3
92090618288. 4

Question Number : 73 Question Id : 9209064627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Steps of Erythropoiesisis :

(A) Early Normoblast
(B) Late Normoblast
(C) Pre Erythroblast
(D) Reticulocyte

(E) Inter mediate Normohlast

Choose the correct answer from the options given below :

(1) D,C,E, B A
(2) C,AE,B D
(3) E,B CDA
(4) ADERBC

Options :

92090618289. 1
92090618290. 2
92090618291. 3
92090618292. 4

Question Number : 73 Question Id : 9209064627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TEIUE @i & 9l g |

A 3t Tmisare
B. fodifad Amleme
C. PE-IHU[ESRS
D. Wilieidl SR

E HHddl AMHeNRe (SRS AHHRD)
Hia fdu U fasedi § O 9l IR &1 9g Difvig ;

(1 D,CEBA
(2) CAEBD
(3) EBCDA
4 ADEEBC

Options :

92090618289. 1
92090618290. 2
92090618291. 3
92090618292. 4

Question Number : 74 Question Id : 9209064628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sequencing the skull bone from down to upside :

(A) PALATINE BONE
(B) PARIETAL BONE
(C) LACRIMALBONE
(D) FRONTALBONE
(E)y ETHMOID BONE

Choose the correct answer from the options given below :

() C,AEB.D
(2 A,CD,BE
(3 C,B,EAD
(49 B,D.E,C,A



Options :

92090618293. 1
92090618294. 2
92090618295. 3
92090618296. 4

Question Number : 74 Question Id : 9209064628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U AR & T T FIR S b HHES BT

A OderH ey
B. UREed 3y
C. chpHd Y
D. Thed Y
E. TyHgs Sy
i feu T fadedi & § Hel 3R &1 95 S ;
(M) CAEBD
@ ACDBE
3) CBEAD
4 BDECA
Options :

92090618293. 1
92090618294. 2
92090618295. 3
92090618296. 4

Question Number : 75 Question Id : 9209064629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In sequence, representation of the component in a colorimeter is:

A) CUVETTE

B) FILTER
) DETECTOR
D) SAMPLE HOLDER

(
(
(C
(
(E) LIGHT SOURCE

Choose the correct answer from the options given below :

(1) (A), (C), (D), (B). (E)

(2) (E), (B), (&), (D), (C)

(3) (E), (4), (C), (D), (B)

(4) (C), (B), (D), (A), (E)
Options :

92090618297. 1
92090618298. 2
92090618299. 3
92090618300. 4

Question Number : 75 Question Id : 9209064629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FeRHICR B HeH! BT HHN: UG g
A SO (FE)
B. e (heey)
C. s (SeTy)
A BIESR (7T Uieur)
E. Yo wWid

Hid f&u U faweqi d 4 98! I &1 99 P ;

(1
(2
(3)
(4)

A), (C), (D), (B), (B)
E), (B), (A), (D), (C)

E), (A), (C), (D), (B)

(
(
(
(C), (B), (D), (A), (E)

Options :
92090618297. 1



92090618298. 2
92090618299. 3
92090618300. 4

Question Number : 76 Question Id : 9209064630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In sequence, Gram stain involves:

(A) DECOLORIZATION

(B) CRYSTAL VIOLET Addition
(C) GRAM'S IODINE Addition
(D)  SAFRANIN Addition

Choose the correct answer from the options given below :

(1) (A), (C), (D), (B)
(2) (D), (B), (A), (C)
(3) (B), (C). (A), (D)
(4) (A), (C). (B), (D)
Options :

92090618301. 1
92090618302. 2
92090618303. 3
92090618304. 4

Question Number : 76 Question Id : 9209064630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U U o o G g

A fatsie

B. fov¥cd amgdie el

C. UM EIEH fHam

D. UM IEIEH fHerr

E. S fiamn

i fGw U famedt & @ U8 I &1 99 i -

(1 (A (Q), (D), (B)
(2) (D), (B), (A), (C)
(

o

3)  (B), (C), (A), (D)
(4) (A (O, (B), (D)
Options :

92090618301. 1
92090618302. 2
92090618303. 3
92090618304. 4

Question Number : 77 Question Id : 9209064631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Acid — fast staining, the correct order of steps needs to be determined.

A) Preparation of bacterial smear on slide.

B Addition of Methylene Blue

C Addition of Carbol-Fuchsin and heating for 5 minutes
1B)] Addition of 1% acid-alechol.

T

(
(
(
(

Choose the correct answer from the options given below :

(1) (A), (D), (B), (C)

(2) (D), (C), (B), (A)

(3) (A), (C), (D), (B)

(4) (B), (A). (D), (C)
Options :

92090618305. 1
92090618306. 2
92090618307. 3



92090618308. 4

Question Number : 77 Question Id : 9209064631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 R 391 § RN & el HA A Fuivd $ 3 smazadd g
A TS R OIAIY] AT (Saeiad WHaR) daR &Il

B. fumgel s i fire

C. rard P S @ ayr 5 e & e mieen

D. 1% 3%-Yewhlgrel el

i feu U fadedl § ¥ gl IR &1 99 Pl ;

(1) (A), (D), (B), (C)
@ (D) (©) (B) (A)
(
(

L

3 (A), (©), (D), (B)
4)  (B). (A), (D), (O)

o

Options :

92090618305. 1
92090618306. 2
92090618307. 3
92090618308. 4

Question Number : 78 Question Id : 9209064632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The order of event in DNA replication needs to be determined.

(
(
(
(

A) Building of single stranded binding protein to DNA strands
B) Unwinding of DNA by helicase
] primase initiates synthesis of RNA primer

b)] DNA polvmerase starts the addition of deoxyribonucleotide to the primer

Choose the correct answer from the options given below :

Options :

92090618309. 1
92090618310. 2
92090618311. 3
92090618312. 4

Question Number : 78 Question Id : 9209064632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

(1)  (B), (A), ), D
(2) (A4).(B),(©), D
3 (@A), D, 3B, (C
(

4) (A), (C), (B), (D

)
)
)
)

Correct Marks : 4 Wrong Marks : 1
ST Uil 31 gre-rsd & & &1 Fuiia Sif)

A, SIEAT Tehi H Thaiwld el UIdH & g4 Ui &I §u+

B. &fddd gRISIUAT &I GidAr
C. WSHW ARUAT USH &1 YA YH FHdl ¢

D. SIUAL Uit URYS! (WISARY) U S JaERIgal Jaasiierzs &l 4a-l YU

T EAT gl

4 fdu U fadedi & ¥ TEt IR &1 99 Fif ;

(M (B) (A)(Q), (D)

(2) (A (B)(Q) (D)

(3) (A, (D), (B), (C)

4)  (A), (O, (B), (D)
Options :

92090618309. 1
92090618310. 2
92090618311. 3



92090618312. 4

Question Number : 79 Question Id : 9209064633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct order of steps for indirect ELISA needs to be determined

(A) Addition of secondary antibody, with a tag, followed by incubation

(B) Fixation of antigen on the plate well

(C) Addition of primary antibody to the plate well, followed by incubation
(D) Detection of signal

Choose the correct answer from the options given below :

(1)  (B), (D) (C), (A)
(2) (B), (D), (A), (C)
(3) (B), (C), (A), (D)
(4) (D), (C). (B). (A)

Options :

92090618313. 1
92090618314. 2
92090618315. 3
92090618316. 4

Question Number : 79 Question Id : 9209064633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U (ELISA) T & =RUN &1 Hal &H ¥ saieyd difo|

A. T 2N & U1y fgdiae ufcral (T a18l) @1 fAde SHmA S
B. UPTSH & Wi dd W fydia

C. Wy ufd el &1 wie 39 W e

D. YI® (Fowe) 3l ugaH

1 fau T fasedi & 9 Tel IR 1 95 Difoe ;

(1) (B) (D) (). (A)
(2)  (B), (D). (A), (O
(3)  (B). Q). (A) (D)
4) (D) (C) (B). (A)

Options :

92090618313. 1
92090618314. 2
92090618315. 3
92090618316. 4

Question Number : 80 Question Id : 9209064634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement [ :  The Heiffor Knief is used in Rocking Microtome.
Statement [1 :  HRapid section can be obtained by Freezing microtome.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement [ are correct
(2) Both Statement I and Statement 11 are not correct
(3 Statement I is correct but Statement I is not correct

(4) Statement I is not correct but Statement 11 is correct

Options :



92090618317. 1
92090618318. 2
92090618319. 3
92090618320. 4

Question Number : 80 Question Id : 9209064634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R AFYIRTME:
FUA | - BRIBR ATSH &1 W BT AShie | [l oral g1
@YF |1 : STHd gU (WIS HISHIEH gRI IS JauH (diauiwde) U faar o Gl g
TR FYA & 3Tl H, 19 AU 7 fawedl § ¥ 9l 3w 94 e

(1)  ®YTIRNGH a8

2)  HYF IR ISH AT ©

(3) YT | Td §, A By || 38T &
4) PYITIE, ApI Y1 TI

Options :

92090618317. 1
92090618318. 2
92090618319. 3
92090618320. 4

Question Number : 81 Question Id : 9209064635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement [ : CYTOKINASE ARE GROUP OF CARBOHYDRATE THAT BRINGS

ABOUT COMMUNICATION BETWEEN DIFFERENT CELLTYPES.

Statement 11 : THE WORKING OF COLORIMETER IS BASED ON THE
PRINCIPLE OF LOWENSTIN — JENSEN.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement [ and Statement Il are correct

(2) Both Statement [ and Statement Il are not correct

(3) Statement I is correct but Statement 11 1s not correct

(4) Statement I 1s not correct but Statement Il is correct
Options :

92090618321. 1
92090618322. 2
92090618323. 3
92090618324. 4

Question Number : 81 Question Id : 9209064635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEEACAIC A CURI S

HYA | : FCIBIST PIAIGISCE P UHE o ol [AIH= BB YHRI H FIR o1d g |
FYA || : DEORHICT DI DI TG [-0 8- & G IR L g

SR DY & el H, Aid 4T 7T [dbedl 1 4 el ol 9g- iy

(1)  HF IR NETHIgA e

2) HY IR IEH I E

3 T AT, AT BT I e ®
(4) HUYTI AT, AP DY T E

—

Options :
92090618321. 1



92090618322. 2
92090618323. 3
92090618324. 4

Question Number : 82 Question Id : 9209064636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ . Neisseria Gonorrhoea is Gram-VE diplococei and are been shaped.

Statement 1 . Diplococeus pheumoniae is also called streptococei pneumoniae.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement [1 are true

(2) Both Statement I and Statement I are false

(3) Statement I is true but Statement 11 is false
(4) Statement I 1s false but Statement Il is true
Options :

92090618325. 1
92090618326. 2
92090618327. 3
92090618328. 4

Question Number : 82 Question Id : 9209064636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Je ey e

Y| AR MAINAT (Neissaria gonorrohoea) U - ve (FBUIIHS) [SUdihIbTs ayl &4 &
PR FI g

&Y || : [Eudidiay ?{Iﬁﬁ (Diplococcus pneumoniae) 1 Eﬂﬂaﬁ_ﬂﬂ'g :@‘rﬁ’l (Streptococc
preumaoniae) o El”*_ta'?f %e |

IR HYA & AdiP |, Hid [GU U fdhedl 1 I gl Iid] 99+ Hifeiy

1)  HYIAR N TIE
2)  HYFI AR g 3 §
3) BYTI T g, Al HYUF Il ITT &
4) HYINGIE, AP B TS
Options :
92090618325. 1
92090618326. 2

92090618327. 3
92090618328. 4

Question Number : 83 Question Id : 9209064637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : Clostridia are bacteria that can produce toxin.

Statement I1 :  Bacillus are rod shaped bacteria.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I1 are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement 11 is false

(4) Statement [ is false but Statement 11 is true

Options :

92090618329. 1
92090618330. 2
92090618331. 3



92090618332. 4

Question Number : 83 Question Id : 9209064637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B R KGR AN

FYF | FAIICISTl 98 oiiary] g off {99 &1 JdgH X 96d 6

U || - AR SSIHR oifary] g

JWRIad Y & JHalid H, #id 4T 7Y fddhedl H U gl It 9+ Sifog

1) YIRS g B

2) Y AR NS T

3) HYTIFAE AlbI BT ST §
4) DY NI E, AP DY T §

Options :

92090618329. 1
92090618330. 2
92090618331. 3
92090618332. 4

Question Number : 84 Question Id : 9209064638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement [ :  Phosphofructokinase is activated by 5 AMP.

Statement 11 :  phosphofructokinase is activated by fructose-6-phosphate.
In the light of the above statements, choose the correct answer from the options given helow :

(1) Both Statement I and Statement II are true
(2) Both Statement | and Statement I are false
(3) Statement 1 is true but Statement 11 is false

(4) Statement I is false but Statement 11 is true

Options :

92090618333. 1
92090618334. 2
92090618335. 3
92090618336. 4

Question Number : 84 Question Id : 9209064638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B KA IS A

FY| - PRGIHACIBISo 5 AMP & GIRT Tiehidd 941 ol 5|

T || . BB haCIdhIgTol Thae H-6-BRIT GIRT Hidhiid ol oiidl g
FURIGd B & el H, Hid fGT 7T fdshedl § I Hgl It 9+ Hifiiy

(1)  HYF IR NTH 9d g

)  HY IR NEH ITT 8

3) HYFITAE, AP DY HTI T
(4) ©YFT| A G, AP DU I TA T

Praaie i

Options :

92090618333. 1
92090618334. 2
92090618335. 3



92090618336. 4

Question Number : 85 Question Id : 9209064639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement [ :  Adenovirus can infect humans.

Statement I1 . Blastomyces dermatidis is a dimorphic fungus.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are true

(2) Both Statement I and Statement I are false

(3) Statement I is true but Statement I is false

(4) Statement I is false but Statement I1 is true
Options :

92090618337. 1
92090618338. 2
92090618339. 3
92090618340. 4

Question Number : 85 Question Id : 9209064639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RS FrEiRum e

Y

| - TSI 9" T4l S b hd $Y Gohdl ¢

YAl ; m: (Blastomycosis dermatﬁfs}wwm %I
IR HYA & el |, A f3U 7 fadedl § O gl IR 994 Hifig

(1)
(2
(3
(4)

—

HUF 1 {R A TT &

YA | AR 1S A §

T | T 8, Al DU I 3T §
HY | ITH ¢, Alp U 1| TI T

Options :

92090618337. 1
92090618338. 2
92090618339. 3
92090618340. 4

Question Number : 86 Question Id : 9209064640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Fiven below are two statements :

Statement [ . FErgosterol is a precussor of Vitamin D).

Statement 11 : Fumarase enzyme catalyses no reaction in Citrie Acid cyele.

In the light of the above statements, choose the correct answer from the options given below :

(1)

(2)

(3)

(4)

Both Statement I and Statement I1 are true

Both Statement I and Statement I are false

Statement I is true but Statement 11 is false

Statement I is false but Statement I is true

Options :

92090618341. 1
92090618342. 2
92090618343. 3
92090618344. 4



Question Number : 86 Question Id : 9209064640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B A AT U

Y| I RIA-faeTfi--31 &1 g g

YA 11 - TES UolgH e o aeh A bl arfiiforar &1 Ifd 8 S 3
JWRIad HYF & el H, A fqT 7T f[ahedl & I el IwRe1 98- Hifoig

(1) AR aAE

2) Y AR NS T @

3) HYTITAE, b FUT I AT §
(4)  HYTI AEA G, Al HA I I 8

Options :

92090618341. 1
92090618342. 2
92090618343. 3
92090618344. 4

Question Number : 87 Question Id : 9209064641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following statement.

(A) Corry’s fluid preserve the glucogen.
(B) Klebsiella is gram+ve bacilli
(C) Benzidine test Blue colour indicate —ve result

(1 Coccygeal vertebrae are 4 in Number

Choose the correct answer from the options given below :

(1) (B), (C) only
(2) (A), (D) only
(3) (A), (B) only
(4) (D). (C) only

Options :

92090618345. 1
92090618346. 2
92090618347. 3



92090618348. 4

Question Number : 87 Question Id : 9209064641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fufafad Fu= 1 ergds ufgul

A, BFIGY T¥d TG e BT URIE HIA1 ¢ |

B. acialteel Udh UM YIS sfars ol

C.  dolie giam =it I BundS Ga B 1 Hdl gl
D. @ [doda seed G H 4 €l

i Gy T fawed! ® § 98 SR &1 95 S ;

(1) 4dd B, C

(2) @dd A, D

(3) hdd A, B

(4) ad D, C
Options :

92090618345. 1
92090618346. 2
92090618347. 3
92090618348. 4

Question Number : 88 Question Id : 9209064642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following statement:-

(A) Eugenics is a science of improving human race Based on genetics.
(B) Decreased Blood glucose level is Hyperglycemia

(C) (OMIM is a catalogue of Human gene and genetic disorder

(D)  Secretion of glycagon is stimulated by High Blood glucose.

Choose the correct answer from the options given below :

(1) (A), (C) only
(2) (A), (B) only
(3) (C), (D) only
(4) (B). (C) only



Options :

92090618349. 1
92090618350. 2
92090618351. 3
92090618352. 4

Question Number : 88 Question Id : 9209064642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafafEa $u=1 o aFgds afqul

A. gﬂ?@ﬁﬂﬂﬁﬂﬁ}ﬂﬁﬁﬂﬁﬁé{ﬂaﬁﬁﬁﬁﬁ? YR TR 95cX B BT UH
|

B. HCT gl o Wbl WR-g UGl

C.  OMIM HFd wiiF ayl AP (R &1 UF dHeran @Fug) gl
D. TAEBTIA &1 WdVl o Iad WWbiel gR1 Jaal [l S g
i feu T fasedi & § Tl 3R &1 o5 B ;

(1) &49d A, C

(2) &dd A, B

(3) ®dd C,D

(4) $dd B, C
Options :

92090618349. 1
92090618350. 2
92090618351. 3
92090618352. 4

Question Number : 89 Question Id : 9209064643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Read the following statement:-

(A) Planoconcave has one surfaces plane and the other concave.
(B) Toulene makes tissue smooth.
() Bioconcave has both surface are concave.

(D) Acetone is clearing reagent.

Choose the correct answer from the options given below :
(1)  (C). (D) only
(2) (A). (C) only
(3) (B). (C) only
(4) (A), (D) only

Options :

92090618353. 1
92090618354. 2
92090618355. 3
92090618356. 4

Question Number : 89 Question Id : 9209064643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrafaREa @yl B aFgds digul

A THAA-3Gqd 31 UH Gagadd d gusl Haad ¢l
B. dEA 3® HI AH §Tdl g |

C. JuTEdd Bl Sl g HGad g

D. THIEH Us fFfer sifteds® g1

i 73U U fasped] & § Wl IR B1 99 Bifo ;

(1) &dd C, D

(2) dd A, C

(3) hdd B, C

(4) dd A, D
Options :

92090618353. 1
92090618354. 2
92090618355. 3
92090618356. 4



Question Number : 90 Question Id : 9209064644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For Gram staining of bacteria, the statements that are correct are,

(A) Crystal Violet binds to peptidoglyecan.

(B) Iodine serves as a mordant in bacterial Gram staining,
() Bacillus is a Gram negative bacterium.
(I Staphylococeus is Gram negative.

Choose the correct answer from the options given below :

1

e

A) and (B) only

{ (A

(2) (C) only

(3) (D) only

(4) (A) and (C) only
Options :

92090618357. 1
92090618358. 2
92090618359. 3
92090618360. 4

Question Number : 90 Question Id : 9209064644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Siiarual & 9 RS & T Y $y 981 82
A forea afgde RESTaEs & Sy g
B.  GiaNy U RSH ¥ TSH U Hdud & dig Sl g
C. SHidy U UTH BUNHS daciial gl
D. EEIAHEHIA AH BUTEHS ¢l
e feu U fawmed! & § 98l S &1 99 St ;

(1) ad ATUIB

(2) &dad C

(3) &ad D

(4) Had ATUIC
Options :

92090618357. 1



92090618358. 2
92090618359. 3
92090618360. 4

Question Number : 91 Question Id : 9209064645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are true about the human nervous system?
(A) A ganglion refers to a cluster of neuronal cell bodies.

(B) A nerve is a bundle of axons.

(C) White matter is composed primarily of myelinated axons.

(

D) Action potential is not observed in the nervous system.

Choose the correct answer from the options given below :

1) (A) only
2) (B) only
] (A), (B) and (D) only
4) (A), (B) and (C) only

[
L.

e

(
(
(
(

Options :

92090618361. 1
92090618362. 2
92090618363. 3
92090618364. 4

Question Number : 91 Question Id : 9209064645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafeaa & € amFa dbe dF & R O /19y 62

A U@ e (s &1 o dieE Sk fvst & T S gl
B. dfRdI dbiwIal &1 Ud Wi (@8d) g

C. #4d %o gEia: U1 foF aesiicd dibial &1 &1 gial g

D. dif¥®rda # fopar v ¢t urn e 21

i féu T famedi d O el I &1 9u- iU :

(1) Had A
(2) hdd B
(3) had A BTUID
(4) had A BTYUIC

Options :

92090618361. 1
92090618362. 2
92090618363. 3
92090618364. 4

Question Number : 92 Question Id : 9209064646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In description of viruses, the following statement need to be studied and the correct ones
selected:

(A) Viruses are intracellular parasites.

(B) They have protein coats called capsids.
(C) They are not obligate parasites.

(D) They can be seen by the naked eve.

Choose the correct answer from the options given below :

(1) (A), (B) only

(2) (C) only

(3) (D) only

(4) (A), (B), (C) only

Options :

92090618365. 1
92090618366. 2
92090618367. 3



92090618368. 4

Question Number : 92 Question Id : 9209064646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fauoell @rR) &t e | Faftiga @yl S sy, 9ol &1 994 By
A AR (fGuI] o SIR@E ueidl g1

B. SAWUH®DIE g ol HUS Pead gl

C. fdwed welldt e 21

D. gt 3 & f 38 o1 wFd §

i iU ¢ fasedi § 9 Hel Il &1 g+ DIl :

(1) hdd ATYIB
(2) ad C
(3) ad D
(4) dd A BTUIC

Options :

92090618365. 1
92090618366. 2
92090618367. 3
92090618368. 4

Question Number : 93 Question Id : 9209064647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following statement
(A) Coagulation of Blood called Hemostasis.
(B) RBC is increased in polycythemia decrease in Anemia.

(C) Dead leukocytes are know as Epithelial cells.
(D EDTA is NON chelating Agent.

Choose the correct answer from the options given below :

(1) (A), (B) only
(2) (C), (D) only
(3) (D). (A) only
(4) (B). (M) only



Options :

92090618369. 1
92090618370. 2
92090618371. 3
92090618372. 4

Question Number : 93 Question Id : 9209064647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fefafaiad syt @ wryds aigul

A 9 S Whad I gAY gd ¢

B. MMR&l I Jw sgaiiedlal H S¢l oyl THItEl # U &It g

C.  ad &d S B tuRiad (Sudmen) SRS & A1 I ST S g
D. $3tdtu iR e Tfd B

i féu U fawedi 4 U gl I &1 99 P :

(1) dd A, B
(2) dd C, D
(3) dad D, A
(4) <hdd B, D
Options :

92090618369. 1
92090618370. 2
92090618371. 3
92090618372. 4

Question Number : 94 Question Id : 9209064648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List 1T :

List I List IT
(A) PARASITOLOGY (I STUDY OF ORGAN
(B) ARTHROLOGY (I STUDY OF BONE
(C) SPLANCHNOLOGY (III) STUDY OF PARASITE
(D) OSTEOLOGY (IV) STUDY OF JOINTS

Choose the correct answer from the options given below:

(1) (A)-(D), (B)-(ID), (C)-(IV), (D)-(I1T)
(2) (4)-(IT), (B)-(1IL), (C)-(D). (D)-(IV)
() (A)-(IIT), (B)-(IV), (C)-(D), (D)-(1I)
(4) (A)-(IV), (B)-(I11), (C)-(D), (D)-(1T)

Options :

92090618373. 1
92090618374. 2
92090618375. 3
92090618376. 4

Question Number : 94 Question Id : 9209064648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At | & | g 1| &1 e i

-1 -
(&) O¥oidt fagm () 3T T
(B) wHftEm 3y &1 e
(© ofad fagm Eaci@-aren (I TRt T e
D) sifeufaTmE (V) SIS HT A
4 Bu o faweat & © w8t 39 &1 999 Sifo:
(1) (A=, (BY-(11), (C)-(1V), (D)-(11)
(2) (A)-(11), (B)-(1), (C)-(1), (D)-(IV)
(3) (A)-(1, (BY-(IV), (C)-(1), (D)-(11)

(4)  (A)-(IV), (B)-(HD), (C)-(1), (D)-(IN)

Options :

92090618373. 1
92090618374. 2
92090618375. 3



92090618376. 4

Question Number : 95 Question Id : 9209064649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 ;

List I List 11
(A) ACANTHOCYTES (. LIVER DISEASE, NORMAL
INFANTS URAMIA
(B)y SCHISTOCYTES (II) CARCINOMA, URAEMIA
(C) BURR CELLS (IIT) ABNORMALITIES IN RBC
(Dy POLYCHROMASIA (IV) RESPONSE TO BLOOD

LOSS, HEMOLYSIS

Choose the correct answer from the options given below:

(1) (A)-(IID), (B)-(IT), (C)-(D), (D)-(IV)
(2) (B)-(D), (C)-(IV), (D)-(I1I), (A)-(IT)
(3) (C)-(I), (D)-(D), (B)-(IV), (A)-(I1I)
(4) (D)-(IV), (C)-(II), (B)-(L), (A)-(I1I)

Options :

92090618377. 1
92090618378. 2
92090618379. 3
92090618380. 4

Question Number : 95 Question Id : 9209064649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt | & | g1 &1 e S

-1 -l
(A) UPpAEREC () THa, |G giem
(B) WS (I  SrEEr, g
(€ = B 1y SR A s
(D) WgaviEHdl (Iv) & g & Ui s wiiRags

A fou o fawegt O 9 w6l 3T &1 9ga wifee

(1 (A=, (B)-(), (O)-(1), (D)-(IV)
(2 (B)-(I) (C)-(IV), (D)-(H1), (A)-(ID)
(3) Q=) (D)-(1), (B)-(IV), (A)-(IIT)
(4)  (D)-(IV), (C)-(1), (B)-(1), (A)-(IIT)

Options :

92090618377. 1
92090618378. 2
92090618379. 3
92090618380. 4

Question Number : 96 Question Id : 9209064650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1 :

List List IT
(A) RBC I 1:20
(B) WBC In 1:200
(C) PLATELET (IIT) 1:10
(D) ABSOLUTE EOSINOPHIL (IV) 1:200
COUNT

Choose the correct answer from the options given below:

(1) (A)-(IV), (B)-(I), (C)-(ID), (D)-(IIT)
(2)  (A)-ID), (B)-(I0), (C)-(IV), (D)-(I)
(3) (A)-(I), (B)-(I11), (C)-(IV), (D)-(IL)
(4)  (A)-(IV), (B)-(III), (C)-(T), (D)-(I)

Options :
92090618381. 1



92090618382. 2
92090618383. 3
92090618384. 4

Question Number : 96 Question Id : 9209064650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tl | & | g 11 1 e S

-1 @i et i
(A)  SRELH. M 1:20
(B) SeegalH (my 1:200
(€ feram (wiceie) am  1:10
(D) gt gaifEETtee o V) 1:100

4 feu U Aol § | 98t IR @1 954 e

-t

(1) (A)=(IV), (B)-(I), (C)=(I1), (D)-(111)
(2) (A=), (B)-(11), (C)-(IV), (D)-()
(3) (A)-(1), (B)-(1H1), (C)-(1V), (D)-(1)
(4) (A)-(IV), (B)-(11), (C)-(1), (D)-(I)

Options :

92090618381. 1
92090618382. 2
92090618383. 3
92090618384. 4

Question Number : 97 Question Id : 9209064651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with Last 11 :

List I List IT
(A) NEUTROPHILS Iy 20-45%
(B) EOSINOPHILS (I 0-1%
(C) BASOPHILS (I1II) 40— 75%
(D) LYMPHOCYTE IvV) 1-6%

Choose the correct answer from the options given below:

(1) (A)-(ID), (B)-(ID), (C)-(I), (D)-(IV)

(2) (A)-(I1L), (B)-(I), (C)-(IV), (D)-(1I)

(3) (A)-(IV), (B)-(11), (C)-(I1T), (D)-(D)

(4) (A)-(IIL), (B)-(IV), (C)-(II), (D)-(D)
Options :

92090618385. 1
92090618386. 2
92090618387. 3
92090618388. 4

Question Number : 97 Question Id : 9209064651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & |y G 1| 1 e Sy

-1 (PifrsT) g -l
(A) geiitbed () 20-45%
(B) g (I 0-1%
(€ d4Eiha () 40 - 45%
(D) fomprEEe (V) 1-6%

A feu e fawedt # | Wl I @1 99 Sifeig;

(1) (A)-(In), (B)-(11), (C)-(1), (D)-(IV)
2y (A, (B)-(1), (C)-(IV), (D)-(I)
(3)  (A)(IV), (B)-(I1), (C)-(NL), (D)-(D)

(4) (A)=(1), (B)-(IV), (C)-(11), (D)-()

Options :

92090618385. 1
92090618386. 2
92090618387. 3
92090618388. 4



Question Number : 98 Question Id : 9209064652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :

List 1 List IT
{Anaemia) (Causes of Anamia)
(A) Aplastic Anaemia ().  RBCs are broken down in body
(B) Haemolytic Anaemia (I) Bone marrow does not produce
enough RBCs, WBCs
()  Pernicious Anaemia (IIT) Haemoglobin protein ig
abnormal
(D) Sickle cell anaemia (IV) Body cannot trigger proper

absorption of Vitamin B12

Choose the correct answer from the options given below:

(1) (A)-(IV). (B)-(D), (C)-(I1D), (D)~(1I)
(2) (A)-(IV), (B)-(1I), (C)-(11I), (D)-(I
(3) (A)-(I0), (B)-(1), (C)-(1V), (D)-(III
(4) (A)-(D), (B)-(ID), (C)-(11L), (D)-(IV)

)
)

Options :

92090618389. 1
92090618390. 2
92090618391. 3
92090618392. 4

Question Number : 98 Question Id : 9209064652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



! | & Gy G 1 BT e Sy

-1 gt -
(A) TOOfE® oRaaal () YRR H smatE ge w8l
(B) el () 3 T Fei Al RBC WBC TT1eT Idie el Sl
© womeh (ay  EErEEE 9 S g

(D) STRIRD vy ¥R 3% | ferfi= B-12 s T8t & urdl
A fou v fawedt O 9 |@l 39 &1 994 Sifae:

=tk

(1 (A)-(IV), (B)-(1), (C)-(lD), (D)-(I1)
() (A)-(IV), (B)-(1), (C)-(1mn), (D)-(1)
(3)  (A)-(IN), (B)-(1), (C)-(IV), (D)-(1HT)
(4)  (A)-=(I), (B)-(I), (C)-(1m), (D)-(IV)

Options :

92090618389. 1
92090618390. 2
92090618391. 3
92090618392. 4

Question Number : 99 Question Id : 9209064653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 11 :

List 1 List 11
Virus property
(A) HIV I} Contains ds DNA  and
produces HBs Ag
(B) Hepatitis B virus (II) earries out reverse
transcription, has integrase
activity.
()  Adenovirus (IIT) Infects tobacco plant, is a rod
shaped virus
Dy TMV {(IV) The cepsid is present and core

is seen, ds DNA is present

Choose the correct answer from the options given below:

(1) (A)-(I), (B)-(1), (C)-(IV), (D)-(I1I)
(2) (A)-(D), (B)-(ID), (C)-(IV), (D)-(IIT)
(3) (B)-(11), (A)-(1), (C)-(111), (I)-(IV)
(4) (A)-(I1T), (B)-(1I), (C)-(IV), (D)-(D)

Options :

92090618393. 1
92090618394. 2
92090618395. 3
92090618396. 4

Question Number : 99 Question Id : 9209064653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A) TE () T9H dsDNA Ffgd dur 4g HBsAg IdGH
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© UdHaETRY () TP TSy P Hehlid Hdl ¢ 98 cIPR §

() dumd (Iv) HE JufRd § aul SR 8 offdl &, dsDNA
SufRa g

4 3w 7 fasedt # @ wel I &1 99 S

(1) (A)=(In), (B)-(1), (C)-(IV), (D)-(1)
(2) (A)-(1), (BY-(I), (C)-(IV), (D)-(1)
(3) (B)-(1), (A)-(I), (C)-(11), (D)-(IV)
(4) (A)-(T), (B)-(I), (C)-(IV), (D)-(I)

Options :

92090618393. 1

92090618394. 2

92090618395. 3

92090618396. 4

Question Number : 100 Question Id : 9209064654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 11 :

List I List IT
Culture medium Properties
(A) Hektoen Enteric Agar (I))  Contain lactose and bile, is a

selective medium allows
growth of Gram negative

bacteria

(B) Macconkey Agar (II) Promotes growth of My cobact
eruim

(Cy THI10 (IIT) It is wused for detecting
Antibiotic resistance in
bacteria

(D) Mueller Hinton Agar (IV) It is used predominantly to

grow Salmonella and Shigella

Choose the correct answer from the options given below:

(1) (A)-(IV), (B)-(D. (C)-(1I), (D)-(I1I)
(2) (4)-(I), (B)-(L), (C)-(I1I), (D)-(IV)
(3) (A)-(IV), (B)-(IT). (C)-(I). (D)-(I1I)
(4) (B)-(I), (A)-(IIT), (D)-D). (C)-(IV)

Options :

92090618397. 1
92090618398. 2
92090618399. 3
92090618400. 4

Question Number : 100 Question Id : 9209064654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A) FTPCRAGCIS AR () THH A9CH aUl IR 8, U giial A1 g,
UE U BUNEHS Sae il &1 3fs 81 a1 g

(B) T Hi-bi AR () TE ARSI sFINGd 3 g Bl Gl gl

(€) 7H103R (1) g 9 B UgdH A $ (e10 uferiyEdr i
UgEA & faTg uged gt &

(D) YR fg=ed R (V) UE HBAd: AIAHdl dul MEH o B e &
forg vrii e g

i f3u U fawel § § 95! IR 61 994 S

(1) (A)-(IV), (B)-(1), (C)-(N), (D)-(1N1)
(2) (A)-(1), (B)-(1D), (C)-(1n), (D)-(IV)
(3) (A)-(IV), (B)-(I1), (C)-(1), (D)-(IIT)
(4) (B)-(H), (A)-(1), (D)-(1), (Q)-(IV)

Options :

92090618397. 1
92090618398. 2
92090618399. 3
92090618400. 4



